

April 8, 2025

VIA RESS

Ontario Energy Board P.O. Box 2319, 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 Attention: Registrar

Dear Ms. Marconi,

Re: Generic Proceeding – Cost of Capital and Other Matters Board File No.: EB-2024-0063

We are counsel to Minogi Corp. ("**MC**") and Three Fires Group Inc. ("**TFG**"), as joint-intervenors, in the above-noted proceeding (the "**Proceeding**"). Pursuant to the Decision and Order dated March 27, 2025, please find attached the corrected final cost claims of MC in the Proceeding.

Submissions. MC respectfully requests an award of 100% of its eligible costs, given its strategic and principled participation in the Proceeding, reflecting the unique interests of Mississaugas of Scugog Island First Nation ("**MSIFN**") and its members. MC submits that this request is supported by the following considerations:

- (i) MC participated effectively in the Proceeding, taking a surgical, principled, and coordinated approach to matters related to the rights and concerns of MSIFN and its member and assisted in contributing to the Board's better understanding of such concerns and matters:
- (ii) MC ensured that its participation in the Proceeding was focused on material issues and consistent with the scope of its joint intervention, as set out in the joint Notice of Intervention:
- (iii) MC coordinated significantly with TFG and other Indigenous intervenors to participate cost-effectively in order to limit overlap and efficiently advance issues of mutual interest; and
- (iv) MC participated responsibly and engaged with other intervenors and Board Staff to avoid overlap, maximize efficiency, and ensure that its participation was not unduly repetitive and was focused on relevant and material issues.

We trust that this approach has maximized the efficient use of resources and the right of otherwise unrepresented and important Indigenous energy stakeholders to be heard in a manner that is consistent with the Board's mandate and statutory objectives.

Total costs. Please note that as part of the interim cost claim process, MC was awarded and paid \$4,219.50. The below table sets out the total outstanding cost claims amount for the Proceeding.

Total cost claim amount	\$43,760.62
Interim credit amount	\$4,219.50
Outstanding final cost claim amount (Total cost claim – interim payment)	<u>\$39,541.12</u>

MC respectfully requests a full award of eligible costs.

Sincerely,

DT Vollmer

c. Dr. Don Richardson, MC

EB-2024-0063 : 2 : Monika Pecnikova

COST CLAIM NUMBER SUBMISSION DEADLINE DATE **CLAIM STATUS** 2615 April 07, 2025 Approved by Finance EB# OTHER EB#S PHASE #* EB-2024-0063: Rates: Policy-Related: Ontario **Energy Board INTERVENOR** INTERVENOR COMPANY* INTERVENOR TYPE Pecnikova, Monika; +1 (647) 991-1190 Minogi Corp., Port Perry: Full Registrant monika@resilientllp.com Corporation HST RATE ONTARIO **EXCHANGE RATE COUNTRY** 13.00 Canada HST NUMBER LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE 700143415 Yes April 09, 2025

PART New	ICIPANTS Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Total Hours	Participant Claim Status
No	,	DeMarco, Lisa (Elisabeth); +1 (647) 991-1190 lisa@resilientllp.com	1,752.63	4.70	Submitted
No	,	Daube, Nicholas; +1 (416) 768-8341 nicholas@resilientllp.com	35,162.21	107.30	Submitted
No	,	Vollmer, Daniel; +(647) 993.6338 daniel@resilientllp.com	1,306.28	6.80	Submitted
No	,	Richardson, Don; +1 (226) 820-5086 drichardson.gll@gmail.com	1,320.00	4.00	Submitted

ATTACHMENTS

	Document	Import Message
Attachment	Туре	
MC_Ltr_Corrected Cost Claim_Generic Hearing_2025.04.08.pdf	Cover	
	Letter	
MINOG EB-2024-0063 Cost Claim 040820251517.pdf		

TOTAL LEGAL/CONSULTANT/OTHER FEES 35.144.00

TOTAL DISBURSEMENTS 0.00

TOTAL HST 4,397.12

ATTENTION

TOTAL CLAIM 39,541.12

TOTAL AMOUNT AWARDED

TOTAL HOURS CLAIMED

TOTAL HOURS DISALLOWED

122.80

REASON FOR REASON FOR REASON FOR DISALLOWANCE - 2 DISALLOWANCE - 3

MAKE CHEQUE PAYABLE TO Resilient LLP

SEND PAYMENT TO ADDRESS

119 Baby Point Road

Toronto, ON

SUBMIT SECTION

M6S 2G7

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY
Daniel Vollmer

DATE SUBMITTED
April 08, 2025

EB-2024-0063: Rates:

Policy-Related: Ontario Energy

Board

COST CLAIM

EB-2024-0063 : 2 : Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

DeMarco, Lisa (Elisabeth); +1 (647) 991-1190

lisa@resilientllp.com

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

1997

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

28

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

April 29, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

330

No

HST NUMBER 700143415

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 4.70 Hearings Subtotal (\$) 1,551.00

Hearings Total Tax (\$) 201.63

Hearings Total (\$) 1,752.63

HST Sub Total HST Total Name <u>Hours</u> **Hourly** Rate Rate **DISCOVERY** Read and Research Application and 330 13.00 Evidence Preparation of Interrogatories 330 13.00 **Review Interrogatory Responses** 330 13.00 **Technical Conference Preparation** 330 13.00 330 13.00 **Technical Conference Attendance** 13.00 Technical Conference Follow-up 330 Subtotal of DISCOVERY 0.00 0.00 0.00 0.00 **PROCEDURAL** Preparation of Issues List Submission 330 13.00 Attendance at Issues List Conference 330 13.00 Preparation for a Confidentiality Request 330 13.00 Prepare Submissions on Confidentiality 330 13.00 Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00 **Review Procedural Documents** 330 13.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	330	0.00	13.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference		330		13.00		
Attendance at Settlement Conference		330		13.00		
Preparation of Settlement Proposal		330		13.00		
Attendance at Presentation to Panel		330		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
Written Submissions	3.20	330	1,056.00	13.00	137.28	1,193.28
Subtotal of WRITTEN ARGUMENT	3.20		1,056.00		137.28	1,193.28
ORAL ARGUMENT Preparation for Oral Hearing	1.50	330	495.00	13.00	64.35	559.35
Attendance at Oral Hearing		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Subtotal of ORAL ARGUMENT	1.50		495.00		64.35	559.35
DECISION Review Decision		330		13.00		
		330		13.00		
Review Rate/Accounting Order Prepare Submission on Rate Order		330		13.00		
Subtotal of DECISION	0.00	330	0.00	13.00	0.00	0.00
OTHER	0.00		0.00		0.00	0.00
Other Attendance (e.g., Intervenor Conferences)		330		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	4.70		1,551.00		201.63	1,752.63

<u>Attachment</u> **Document Type** Import Message

EB-2024-0063_CostClaim_Minogi_Time Sheets_Lisa DeMarco.pdf

Time Docket

<u>Attachment</u>
EB-2024-0063_CostClaim_Minogi_Time
Sheets_Lisa DeMarco.pdf

<u>Document Type</u> Time Docket Claim Type Hearings **Import Message**

			EB-2024-0063_Cost Claim_Minogi_Time Sheets_L	isa DeMarc	ю.		
Туре	Date	Hours	Description	Rate (\$)	Billable (\$)	User	Bill#
TimeEntry	09/20/2024	0.6	OHP - Attend on call with client in preparation for the upcoming hearing; Instructions to N. Daube;	\$ 330.00	\$ 198.00	Lisa DeMarco	24202
TimeEntry	09/22/2024	0.9	OHP - Review opening statement for hearing; Email communications with client and N. Daube re same; Instructions to N. Daube re approach and cross examinations;	\$ 330.00	\$ 297.00	Lisa DeMarco	24202
TimeEntry	11/07/2024	1.3	APR - Review and revise final submissions; Instructions to N. Daube re same;	\$ 330.00	\$ 429.00	Lisa DeMarco	24202
TimeEntry	01/06/2025	1.1	APR - Review and revise draft supplementary Cost of Capital submissions; Instructions to N. Daube re same;	\$ 330.00	\$ 363.00	Lisa DeMarco	25115
TimeEntry	10/11/2024	0.4	APR - Instructions to N. Daube re approach to final submissions;	\$ 330.00	\$ 132.00	Lisa DeMarco	24202
TimeEntry	11/11/2024	0.4	APR - Communications with N. Daube re approach to reply/ other submissions;	\$ 330.00	\$ 132.00	Lisa DeMarco	24202
Total		4.7			\$ 1,551.00		

EB-2024-0063: Rates:

Policy-Related: Ontario Energy

Board

COST CLAIM

EB-2024-0063 : 2 : Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT
CLAIM STATUS

Submitted

FILING PARTICIPANT

Daube, Nicholas; +1 (416)

768-8341

nicholas@resilientllp.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2007

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

18

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

April 04, 2025

OVERRIDE HOURLY RATE

HOURLY RATE

290

No

HST NUMBER 700143415

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 107.30 Hearings Subtotal (\$) 31,117.00

Hearings Total Tax (\$) 4,045.21 **Hearings Total (\$)** 35,162.21

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISCOVERY Read and Research Application and Evidence		290		13.00		
Preparation of Interrogatories		290		13.00		
Review Interrogatory Responses		290		13.00		
Technical Conference Preparation		290		13.00		
Technical Conference Attendance		290		13.00		
Technical Conference Follow-up		290		13.00		
Subtotal of DISCOVERY	0.00		0.00		0.00	0.00
PROCEDURAL Preparation of Issues List Submission		290		13.00		
Attendance at Issues List Conference		290		13.00		
Preparation for a Confidentiality Request		290		13.00		
Prepare Submissions on Confidentiality		290		13.00		
Preparation of Motion(s) Materials		290		13.00		
Prepare Submissions on the Motion(s)		290		13.00		
Attendance at Hearing on Motion(s)		290		13.00		
Review Procedural Documents		290		13.00		

<u>Name</u>		<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtota	l of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR Preparat	EVIDENCE tion of Intervenor Evidence		290		13.00		
Interroga	atory Responses		290		13.00		
Preparat at Hearir	tion of Witness(es) for Attendance	7.20	290	2,088.00	13.00	271.44	2,359.44
Subtota	of INTERVENOR EVIDENCE	7.20		2,088.00		271.44	2,359.44
_	CONFERENCE tion for Settlement Conference		290		13.00		
Attendar	nce at Settlement Conference		290		13.00		
Preparat	tion of Settlement Proposal		290		13.00		
Attendar	nce at Presentation to Panel		290		13.00		
Subtotal CONFER WRITTEN ARG		0.00		0.00		0.00	0.00
	Submissions	56.30	290	16,327.00	13.00	2,122.51	18,449.51
Subtota	I of WRITTEN ARGUMENT	56.30		16,327.00		2,122.51	18,449.51
ORAL ARGUM Preparat	ENT tion for Oral Hearing	30.80	290	8,932.00	13.00	1,161.16	10,093.16
Attendar	nce at Oral Hearing	13.00	290	3,770.00	13.00	490.10	4,260.10
Oral Sub	omissions		290		13.00		
Attendar	nce at Oral Submissions		290		13.00		
Subtota	I of ORAL ARGUMENT	43.80		12,702.00		1,651.26	14,353.26
DECISION	Denisian		290		13.00		
Review I							
	Rate/Accounting Order		290		13.00		
·	Submission on Rate Order	0.00	290	0.00	13.00	0.00	0.00
	I of DECISION	0.00		0.00		0.00	0.00
OTHER Other At Conferen	tendance (e.g., Intervenor nces)		290		13.00		
Subtota	I of OTHER	0.00		0.00		0.00	0.00
	CE PROVIDER FEES rvice Provider Fees	107.30		31,117.00		4,045.21	35,162.21

<u>Attachment</u> **Document Type** Import Message

EB-2024-0063_Cost Claim_Minogi_Time Sheets_Nicholas Daube.pdf

Time Docket

Attachment
EB-2024-0063_Cost Claim_Minogi_Time
Sheets_Nicholas Daube.pdf

Document Type
Time Docket

Claim Type Hearings **Import Message**

_	T_	I	EB-2024-0063_Cost Claim_Minogi_Time Sheets_Nich			I		I	1
Туре	Date		Description		te (\$)	-	lable (\$)	User	Bill#
TimeEntry	09/09/2024	2.2		\$	290.00	\$	638.00	Nicholas Daube	24202
			interrogatories in preparation for hearing and drafting						
			request for instructions regarding approach to hearing for						
			client approval;			L.			
TimeEntry	09/20/2024	0.9	OHP - Preparing for meeting with client and obtaining	\$	290.00	\$	261.00	Nicholas Daube	24202
			instructions from client regarding upcoming hearing;			L.			
TimeEntry	09/21/2024	3.7		\$	290.00	\$	1,073.00	Nicholas Daube	24202
			for hearing;						
TimeEntry	09/22/2024	3.1	OHP - Drafting opening statement and general preparation	\$	290.00	\$	899.00	Nicholas Daube	24202
			for hearing;	1.		ļ.,			
TimeEntry	09/23/2024	5.1	OHP - Revising opening statement, preparing cross-	\$	290.00	\$	1,479.00	Nicholas Daube	24202
			examination outlines, and general preparation for hearing;	١.		ļ.,			
TimeEntry	09/24/2024	6.2	Witness Prep - Preparing for cross-examination of OEB's	\$	290.00	\$	1,798.00	Nicholas Daube	24202
			expert witness;						
_	09/25/2024		Witness Prep - Preparing for LEI cross-examination;	_	290.00	\$		Nicholas Daube	<u> </u>
	09/25/2024		OHA - Participating in day 1 of hearing;		290.00	\$		Nicholas Daube	
	09/25/2024		OHP - Preparing for Concentric cross-examination;	+-	290.00	\$		Nicholas Daube	
TimeEntry	09/26/2024	1.2	OHP - Preparing for Concentric cross-examination;	\$	290.00	\$	348.00	Nicholas Daube	24202
TimeEntry	09/26/2024	2.9	OHA - Attending hearing;	\$	290.00	\$	841.00	Nicholas Daube	24202
TimeEntry	09/27/2024	3.7	OHA - Attending hearing;	\$	290.00	\$	1,073.00	Nicholas Daube	24202
TimeEntry	09/30/2024	3.2	OHP - Preparing for upcoming cross-examinations of Nexus	\$	290.00	\$	928.00	Nicholas Daube	24202
			and Dr. Cleary;						
TimeEntry	10/01/2024	1.4	OHP - Preparing for upcoming cross-examination of Dr.	\$	290.00	\$	406.00	Nicholas Daube	24202
			Cleary;						
TimeEntry	10/01/2024	2.8	OHA - Attending hearing;	\$	290.00	\$	812.00	Nicholas Daube	24202
TimeEntry	10/02/2024	2.2	OHP - Preparing for upcoming cross-examination of Dr.	\$	290.00	\$	638.00	Nicholas Daube	24202
			Cleary;						
TimeEntry	10/02/2024	0.3	OHP - Drafting client update and obtaining instructions for	\$	290.00	\$	87.00	Nicholas Daube	24202
			next steps in hearing;						
TimeEntry	10/04/2024	1.2	OHP - Preparing for upcoming cross-examination of Dr.	\$	290.00	\$	348.00	Nicholas Daube	24202
			Cleary;						

TimeEntry	10/07/2024	0.4	OHP - Preparing for cross-examination of Dr. Cleary, including preparing and circulating updated compendium;	\$ 290.00	\$ 116.00	Nicholas Daube	24202
TimeEntry	10/09/2024	0.7	OHP - Preparing for continued cross-examination of Dr. Cleary;	\$ 290.00	\$ 203.00	Nicholas Daube	24202
TimeEntry	10/10/2024	3.6	OHP - Preparing for and attending final day of hearing;	\$ 290.00	\$ 1,044.00	Nicholas Daube	24202
TimeEntry	10/11/2024	0.9	APR - Drafting emails to other parties regarding positions in final submissions, updating clients regarding conclusion of hearing and seeking instructions regarding final submissions, and beginning preparations for final submissions;	\$ 290.00	\$ 261.00	Nicholas Daube	24202
TimeEntry	10/16/2024	0.6	APR - Drafting final submissions;	\$ 290.00	\$ 174.00	Nicholas Daube	24202
TimeEntry	10/17/2024	1	APR - Drafting final submissions;	\$ 290.00	\$ 290.00	Nicholas Daube	24202
TimeEntry	10/18/2024	1.6	APR - Drafting final submissions;	\$ 290.00	\$ 464.00	Nicholas Daube	24202
TimeEntry	10/21/2024	1.6	APR - Drafting final submissions;	\$ 290.00	\$ 464.00	Nicholas Daube	24202
TimeEntry	10/22/2024	2.4	APR - Drafting final submissions;	\$ 290.00	\$ 696.00	Nicholas Daube	24202
TimeEntry	10/23/2024	0.6	APR - Drafting final submissions;	\$ 290.00	\$ 174.00	Nicholas Daube	24202
TimeEntry	10/28/2024	2.4	APR - Drafting final submissions;	\$ 290.00	\$ 696.00	Nicholas Daube	24202
TimeEntry	10/29/2024	2.8	APR - Drafting final submissions;	\$ 290.00	\$ 812.00	Nicholas Daube	24202
TimeEntry	10/30/2024	1.3	APR - Drafting final submissions;	\$ 290.00	\$ 377.00	Nicholas Daube	24202
TimeEntry	10/31/2024	1.5	APR - Drafting final submissions;	\$ 290.00	\$ 435.00	Nicholas Daube	24202
TimeEntry	11/01/2024	1.7	APR - Drafting final submissions;	\$ 290.00	\$ 493.00	Nicholas Daube	24202
TimeEntry	11/03/2024	1.4	APR - Drafting final submissions;	\$ 290.00	\$ 406.00	Nicholas Daube	24202
TimeEntry	11/04/2024	2.2	APR - Drafting final submissions;	\$ 290.00	\$ 638.00	Nicholas Daube	24202
TimeEntry	11/05/2024	1.9	APR - Drafting final submissions and circulating to clients for review;	\$ 290.00	\$ 551.00	Nicholas Daube	24202
TimeEntry	11/06/2024	2.6	APR - Revising draft submissions, circulating same to clients, and updating submissions to reflect client comments;	\$ 290.00	\$ 754.00	Nicholas Daube	24202
TimeEntry	11/07/2024	3.6	APR - Incorporating client comments, circulating new drafts, and finalizing submissions;	\$ 290.00	\$ 1,044.00	Nicholas Daube	24202
TimeEntry	11/08/2024	0.3	APR - Reviewing submissions of OEB Staff and other intervenors for purposes of determining any need for a reply submission;	\$ 290.00	\$ 87.00	Nicholas Daube	24202

TimeEntry	11/11/2024	1.6	APR - Reviewing submissions from other parties, drafting	\$ 290.00	\$	464.00	Nicholas Daube	24202
			recommendation to clients regarding need for reply and					
			confirming instructions by email and through conversations					
			with both Minogi and TFG regarding same;					
TimeEntry	12/02/2024	1.2	APR - Reviewing reply submissions of other parties, in part	\$ 290.00	\$	348.00	Nicholas Daube	24202
			for purposes of determining need for Sur-reply, and					
			obtaining instructions from clients; Instructions from L.					
			DeMarco;					
TimeEntry	12/02/2024	1.7	APR - Drafting submission to OEB regarding request for	\$ 290.00	\$	493.00	Nicholas Daube	24202
			leave to file Sur-reply;					
TimeEntry	12/20/2024	0.5	APR - Beginning organization of surreply submission;	\$ 290.00	\$	145.00	Nicholas Daube	24202
TimeEntry	12/20/2024	0.3	APR - Discussing next steps for submissions with Minogi and	\$ 290.00	\$	87.00	Nicholas Daube	24202
			drafting email on same to Three Fires Group;					
TimeEntry	12/23/2024	3.1	APR - Preparing surreply submissions, including organization	\$ 290.00	\$	899.00	Nicholas Daube	24202
			of case law on duty to consult;					
TimeEntry	12/30/2024	2.1	APR - Drafting supplementary submissions;	\$ 290.00	\$	609.00	Nicholas Daube	24202
TimeEntry	01/02/2025	3.7	APR - Drafting supplementary submissions;	\$ 290.00	\$	1,073.00	Nicholas Daube	25115
TimeEntry	01/03/2025	4.6	APR - Drafting supplementary submissions;	\$ 290.00	\$	1,334.00	Nicholas Daube	25115
TimeEntry	01/04/2025	4.2	APR - Drafting supplementary submissions and circulating	\$ 290.00	\$	1,218.00	Nicholas Daube	25115
			for client comment and instructions;					
TimeEntry	01/06/2025	2.9	APR - Finalizing submissions and obtaining instructions from	\$ 290.00	\$	841.00	Nicholas Daube	25115
			clients regarding edits towards finalization;					
Total		107.3			\$3	31,117.00		

EB-2024-0063: Rates:

Policy-Related: Ontario Energy

Board

COST CLAIM

EB-2024-0063: 2: Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Vollmer, Daniel; +(647) 993.6338

daniel@resilientllp.com

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2020

COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE*

4

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

March 21, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

170

No

HST NUMBER 700143415

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 6.80

Hearings Subtotal (\$) 1,156.00

Hearings Total Tax (\$) 150.28

Hearings Total (\$) 1,306.28

HST Name Hours Sub Total **HST** Total **Hourly** Rate Rate **DISCOVERY** Read and Research Application and 1.10 170 187.00 13.00 24.31 211.31 Evidence Preparation of Interrogatories 170 13.00 **Review Interrogatory Responses** 170 13.00 **Technical Conference Preparation** 170 13.00 13.00 **Technical Conference Attendance** 170 13.00 Technical Conference Follow-up 170 Subtotal of DISCOVERY 1.10 187.00 24.31 211.31 **PROCEDURAL** Preparation of Issues List Submission 170 13.00 Attendance at Issues List Conference 170 13.00 Preparation for a Confidentiality Request 13.00 170 Prepare Submissions on Confidentiality 170 13.00 13.00 Preparation of Motion(s) Materials 170 Prepare Submissions on the Motion(s) 170 13.00 Attendance at Hearing on Motion(s) 170 13.00 **Review Procedural Documents** 170 13.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		170		13.00		
Interrogatory Responses		170		13.00		
Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	170	0.00	13.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference		170		13.00		
Attendance at Settlement Conference		170		13.00		
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Panel		170		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
Written Submissions	3.10	170	527.00	13.00	68.51	595.51
Subtotal of WRITTEN ARGUMENT	3.10		527.00		68.51	595.51
ORAL ARGUMENT Preparation for Oral Hearing		170		13.00		
Attendance at Oral Hearing		170		13.00		
Oral Submissions		170		13.00		
Attendance at Oral Submissions		170		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision	2.60	170	442.00	13.00	57.46	499.46
Review Rate/Accounting Order		170		13.00		
Prepare Submission on Rate Order		170		13.00		
Subtotal of DECISION	2.60		442.00		57.46	499.46
OTHER Other Attendance (e.g., Intervenor Conferences)		170		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	6.80		1,156.00		150.28	1,306.28

<u>Attachment</u> **Document Type** Import Message

EB-2024-0063_Cost Claim_Minogi_Time Sheets_Daniel Vollmer.pdf

Time Docket

<u>Attachment</u>
EB-2024-0063_Cost Claim_Minogi_Time
Sheets_Daniel Vollmer.pdf

Document Type
Time Docket

Claim Type Hearings **Import Message**

			EB-2024-0063_Cost Claim_Minogi_Time Sheets	_Daniel Voll	mer			
Туре	Date	Hours	Description	Rate (\$)	Billa	ıble (\$)	User	Bill#
TimeEntry	10/01/2024	0.6	APR - Assist N. Daube re written submissions;	\$ 170.00	\$	102.00	Daniel Vollmer	24202
TimeEntry	11/06/2024	1.1	ARP - Assist N. Daube re preparing submissions;	\$ 170.00	\$	187.00	Daniel Vollmer	24202
TimeEntry	11/07/2024	1.1	ARP - Assist N. Daube;	\$ 170.00	\$	187.00	Daniel Vollmer	24202
TimeEntry	11/28/2024	0.7	Research re: Review guidance on proper scope of	\$ 170.00	\$	119.00	Daniel Vollmer	24202
			reply submissions per N. Daube;					
TimeEntry	11/29/2024	0.3	Research re: Review guidance on proper scope of	\$ 170.00	\$	51.00	Daniel Vollmer	24202
			reply submissions per N. Daube;					
TimeEntry	12/01/2024	0.1	Research re: Review guidance on proper scope of	\$ 170.00	\$	17.00	Daniel Vollmer	24202
			reply submissions per N. Daube;					
TimeEntry	12/02/2024	0.3	APR - Assist N. Daube re reply submissions;	\$ 170.00	\$	51.00	Daniel Vollmer	24202
TimeEntry	04/01/2025	0.9	Review Decision - Review Decision and Order;	\$ 170.00	\$	153.00	Daniel Vollmer	25115
			prepare summary for client re same;					
TimeEntry	04/01/2025	0.7	Review Decision - Review Decision and Order;	\$ 170.00	\$	119.00	Daniel Vollmer	25115
			prepare summary for client re same;					
TimeEntry	04/02/2025	1	Review Decision - Review Decision and Order;	\$ 170.00	\$	170.00	Daniel Vollmer	25115
			prepare summary for client re same;					
Total		6.8			\$	1,156.00		

EB-2024-0063: Rates:

Policy-Related: Ontario Energy

Board

COST CLAIM

EB-2024-0063: 2: Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT
CLAIM STATUS

Submitted

FILING PARTICIPANT

Richardson, Don; +1 (226)

820-5086

drichardson.gll@gmail.com

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

_

PRACTICING/YEARS OF RELEVANT EXPERIENCE*

27

COMPLETED YEARS

HST RATE CHARGED*

0.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

July 10, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

330

No

HST NUMBER 700143415

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 4.00 Hearings Subtotal (\$) 1,320.00

Hearings Total Tax (\$) 0.00 Hearings Total (\$) 1,320.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISCOVERY Read and Research Application and Evidence		330		0.00		
Preparation of Interrogatories		330		0.00		
Review Interrogatory Responses		330		0.00		
Technical Conference Preparation		330		0.00		
Technical Conference Attendance		330		0.00		
Technical Conference Follow-up		330		0.00		
Subtotal of DISCOVERY	0.00		0.00	0.00	0.00	0.00
PROCEDURAL Preparation of Issues List Submission		330		0.00		
Attendance at Issues List Conference		330		0.00		
Preparation for a Confidentiality Request		330		0.00		
Prepare Submissions on Confidentiality		330		0.00		
Preparation of Motion(s) Materials		330		0.00		
Prepare Submissions on the Motion(s)		330		0.00		
Attendance at Hearing on Motion(s)		330		0.00		
Review Procedural Documents		330		0.00		

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00	0.00	0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence		330		0.00		
Interrogatory Responses		330		0.00		
Preparation of Witness(es) for Attenda at Hearing Subtotal of INTERVENOR EVIDENCE		330	0.00	0.00 0.00	0.00	0.00
SETTLEMENT CONFERENCE Preparation for Settlement Conference		330		0.00		
Attendance at Settlement Conference		330		0.00		
Preparation of Settlement Proposal		330		0.00		
Attendance at Presentation to Panel		330		0.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	0.00		0.00	0.00	0.00	0.00
Written Submissions	3.00	330	990.00	0.00		990.00
Subtotal of WRITTEN ARGUMENT	3.00		990.00	0.00	0.00	990.00
ORAL ARGUMENT Preparation for Oral Hearing	1.00	330	330.00	0.00		330.00
Attendance at Oral Hearing		330		0.00		
Oral Submissions		330		0.00		
Attendance at Oral Submissions		330		0.00		
Subtotal of ORAL ARGUMENT	1.00		330.00	0.00	0.00	330.00
DECISION		222		0.00		
Review Decision		330		0.00		
Review Rate/Accounting Order		330		0.00		
Prepare Submission on Rate Order	0.00	330	0.00	0.00	0.00	0.00
Subtotal of DECISION	0.00		0.00	0.00	0.00	0.00
OTHER Other Attendance (e.g., Intervenor Conferences)		330		0.00		
Subtotal of OTHER	0.00		0.00	0.00	0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	4.00		1,320.00		0.00	1,320.00

<u>Attachment</u> **Document Type Import Message**

EB-2024-0063_CostClaim_Minogi_Time Sheets_Don Richardson.pdf IN07040 - RESILIENT LLP - 3-31-2025.pdf

Time Docket

Invoice

Attachment
EB-2024-0063_CostClaim_Minogi_Time
Sheets_Don Richardson.pdf
IN07040 - RESILIENT LLP - 3-31-2025.pdf

Document Type
Time Docket

Claim Type Hearings **Import Message**

Invoice Hearings

EB-2024-0063_Cost Claim_Minogi_Time Sheets_Don Richardson							
Туре	Date	Hours	Description	Rate (\$)	Bill	lable (\$)	User
TimeEntry	09/20/2024		OHP - Assistance with preparing oral hearing statement;	\$ 330.00	\$	330.00	Don Richardson
TimeEntry	11/06/2024		APR - Assistance with draft submissions;	\$ 330.00	\$	330.00	Don Richardson
TimeEntry	12/02/2024		APR - Assistance with draft reply letter re OEB staff's submissions;	\$ 330.00	\$	330.00	Don Richardson
TimeEntry	01/06/2025	1	APR - Assistance with supplementary submissions;	\$ 330.00	\$	330.00	Don Richardson
Total		4			\$	1,320.00	

MISSISSAUGAS OF SCUGOG ISLAND

Mississaugas of Scugog Island First Nation



22521 Island Road RR #5 Port Perry, ON L9L 1B6 Canada
 Number:
 IN07040

 Page:
 1

 Date:
 3/31/2025

Sold RESILIENT LLP
To: 119 BABY POINT ROAD
TORONTO, ONTARIO M6S 2G7
CANADA

Ship 119 BABY POINT ROAD To: TORONTO, ONTARIO M6S 2G7 CANADA

Reference - P.O. No.	Customer No.	Teri	ns Code
	RES002	COI)
Description/Comments		-	Amount
DON RICHARDSON - EB-2024-	0063 - 9/20/2024, 1 @ \$330		330.00
DON RICHARDSON - EB-2024-	0063 - 11/6/2024, 1 @ \$330		330.00
DON RICHARDSON - EB-2024-	0063 - 12/2/2024, 1 @ \$330		330.00
DON RICHARDSON - EB-2024-	0063 - 1/6/2025, 1 @ \$330		330.00

Remit To:

Mississaugas of Scugog Island First Nation 22521 Island Road Port Perry, ON L9L 1B6

Subtotal before taxes	1,320.00
Total taxes	0.00
Total amount	1,320.00
Payment received	0.00
Discount taken	0.00
Amount due	1,320.00

Туре	Date	Hours	Description	Rate (\$)	Bill	able (\$)	User
	09/20/2024	1 OHP - Assistance with preparing oral hearing	\$ 330.00	\$	330.00	Don Richardson	
TimeEntry	11/06/2024		statement; APR - Assistance with draft submissions;	\$ 330.00	\$	330.00	Don Richardson
TimeEntry	12/02/2024		APR - Assistance with draft reply letter re OEB staff's submissions;	\$ 330.00	\$	330.00	Don Richardson
TimeEntry	01/06/2025	1	APR - Assistance with supplementary submissions;	\$ 330.00	\$	330.00	Don Richardson
Total		4			\$	1,320.00	